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Read the following instructions carefully before you begin to answer the guestions. This Booklet contains
questions in English as well as in Hindi.
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Test Form No
3149329

Before you start to answer the questions you must
check up this Booklet and ensure that it contains all
the pages (1 -24) and see that no page is missing or

repeated. If you find any  defect in this Booklet, you)igfrar, At Ty e g IR A |
must get it replaced immediately.
INSTRUCTIONS TO CANDIDATES Feaitant & A iy

. This Booklet cortains 200 questions in all comprising thell,  ewofeee# o= 200w E, e FrTaTEe o 0T 8

following four parts | : R

Part A .General 1g?alliganm and Reasoning (50 Cuestions) 71 - WA YR T 50 57%4)
Part B :General Awaraness (50 Questions) W1 W« TR {50°7H)
Part G ;Quantitative Aptitude (50 Questions) WIAT T EEATEH® MG o |50 FE)
Part [ :English Comprahansion (50 Questions) ST I, AT AR (50 )

2 In questions set bilingually in English and Hindi, in cess of 5 3 mmm#wrﬂw Crseh i & Y R g

discrepancy, the English version will prevail,

FemrTy 75 Mt aTor e 819 |

3 Al questions are compulsory and carry @qual marks.

4, The p:fﬂr(.‘amﬂs negative marking, 0,25 marks will be deductad||s ~ FT A8 oS £ T HER ATAT R E |
for e4ci winng anawer, R Y A Irad ¥ T 0,25 3 el

5. vou will be supplied the Answer-Sheet separatefy by the . o L FLs T
Invigilator, You must complete and code Ihe detaits of Mame, A
Roll Number. Ticket Number and Test Form Number in the(fs, | forfFerss et oy sevet-offe arorar & Ay Fmoaft | Feeil Gheer #
Anawer-Shast carefully, You must also put your signatire andy ErardT & WA CITEGAE T A, U A, Rhe ae
Left-Hand thumb Impression on the Answer-Shest st fhe 3t e ok g vy ol | Wl & Srad ATETE A UE T A T6E
prescribed place before you actuslly start answerha thef # A m
guestions. These instructions must be fully complied with, failing FeeTraTEeRT T T e T 3o BT U A A1
which, your Answer-Sheet will not be evaluated. a7 FeyamsT oy sree wad | SOdEe Faeih @ ol o e i E

£ Answers must be shown by completely blackening the TR AT S - THE A A A | N,
corresponding circles on Sidel of the Answer-Sheel againsi the S eHTTRE o Fw d B
relevant question number by Black/Blue Ball-point Pen only 5 E # Tl e side 15 o . LR
Answers which are not shown by BlackiBlve Ball-point Pen wil ST EE S A W afR-aTge i A ol e S
not be awardad any mark. o« g, i

| otbemwmmed my ik C b Arar|| TR | SR R R M v O ) S S e, e
Sheal In case the information is ncomplete or different from thef T s afe g fegar o |
information given in the application form, such candidate wiill b
awarded 'ZERO' mark. 7 U, Teo-aTe s T e we o v e el | A

8.  The Answer-Sheet must be handed over to the Invigilator bafors T T & 3T e T # & 1% Hen & TR, i el
you leave the Examination Hall. 13T 3 e e |

9. Failure to comply with any of the above instructions will 5 - g e
render a candidate liable to such action/penaity as may be B ﬁﬂﬁ!ﬁﬁq‘ﬁﬁ LiED * w
deemed fit. arfge |

10. The manner in which the different questions are to be answered|{a. T 0 AT A # Pl we w7 ot v e o7 AR T
has been explained at the back of this Booklet (Page Mo 24), mmrﬁﬁmmimmwmmh
:T;r;b;.:;u should resd carefully before aclually answering the 10, PR & 3 2 o R e ol (e T 24) oY

i1, Answer lhe questions as quickly and as carefully as you can, BT j?ii‘eﬁﬁﬁ’lﬂ%.ﬁmm % Fea & & Upe gl g e |
Some questions may be difficut and others sasy. De not spend|11. M9 3 Yoot Toveeit STo B T T T & | e AT

12 tsg r::ch:r:?n:: ?:ﬂqu::ﬁ;;ﬁb on the Answer-Sheet. Blank et Bl i ol o 7|

: ugl o . P =T e # Rrftre

spaces provided at various places in the guestion booklat 12 ﬂwﬂm Al LRl #
may be used for rough work. wmt o FoEer AT FE ST 6 W e wn wwa

13. “Mobile phones and wireless communication devices are\| . .oy gic ; gl s AiTEw WIT U7 ST AT FIUA G A AT
completely banned in the examination hallsrooms. ; L a
Candidates are advised not to keep mobile phones/any other ﬁmﬂmﬂ#hﬁmﬂm# HhaTE Wi/ fl
wireless communication devices with them even in switched F AT AT AT v e 3w W A e A | T
off mode, in their own interest. Failing to comply with this wagmam#ﬂm#ﬁﬁ?mﬂmmmmaﬁr
provision will be considered as using unfair means in the S e e A et T WA e A E R
examination and action will be taken against them including
cancellation of their candidature.”
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Pant A: Ganeral Inlslligence and Reasaning / 317 & W8T §R70T o7 sdwinT

ol e ke ol e ke e e E}
Part A: General | g ing
Par ral intelligence arrd Reasonin A Lawyer/ adhra B) Legislator / fatmas

HIE &: WA FREFe v i
C) Mayor / FTT D) Governor / Iad9TeT

1) Introducing a man, a woman said “His mother is the only
daughter of my father” .How is the man related to the 9)

worman?
U 9O 1 IRET FI 5T UF AREr o Fn, czwdy A Acute | 7 B Parallel / wRiR
A A R i gaelel o B qevaRer @ R | ) Right/ T P Obtuse / 3t
W HFe ~ud &7 10) = == =
A) son/gx B) Father/ frar A) 50 B) 120
C) Brother HT@ D) Unecle / =T9T Gj 37 D) 145
il 11)
Directions / fAger: In Question nos. / ¥¥7 H&JT 2o 7, selsct A) BS B) EV
the rolated wordflettersinumber from the given & DX D) IZ
allernatives.
T I faFet H & sralt e e aer # g 12)
2) BLOCKED : YOLXPVW : : 7 : OZFMMXS A) OKHA B) PERU
C) ERKU D} ANDI
A) LABOURS B) LAUNNCH ;
C) DEBATES D) RESULTS 13) _°
3) 12:72::8:7 A) 200 B) 191
C} RrOg D) 1331
A) 36 B) 32 \ :
C) 38 D) 40 14) Find out the number of circles in the figure.
3 A+ goear f @Em A fiie)

4) FIG:EGHJFH::BIN:?

A) ACJHMO B) CAHIMOC
C) CAJHOM Py ACHIMO
) 6:42;:7:%
A) 48 B) 40
A) 18 B) 20
56
¢ D) 52 c) 16 D) 19
6} Garbage : House : : Gangue : ?
FEAT BT HTETEY 9 Diractions / A& In Question nos. / o F&JT15 to 17, which
one set of letlers/numbers when sequentially placed at the
A) Factory / FREET B) Drugs / after gaps in the given leffer series shall complete it?
C) Office s Friay D) Ore s 3T HEWHEHIH &7 Fie-T THE BT FAF 07 FHIT (57 8
&Y areft zmTe A S QT Fa?

7) DBU:EEZ::CJH:?
A) DMN B) DNM 15) SH_ELAS _EELA_ HEELASHEE _A

C) DNN Dy DMM A) HHSS B) EEHS
C) ELHA Dj EHSL

Directions / fadr: In Question nos. / ¥4 W&T810 13, find the| 16) 12'd1_ 4123 234
odd wordfetters/number from the given alternatives. 3 I
A) 3212 B) 2134

R oo Rweql & & fResr sy sremraear g0 C) 3241 D) 1432
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20) In a certain code, FRACTION is written as FNATTCOR.
How is QUANTITATIVE written in that code?

Feft #1 & FRACTION 1 ‘FNAITCOR' & ¥ & Tor@r
Srar & & 38 F1E A QUANTITATIVE Fr &3 farar
ST

A) QTNAVIAITETU
C) QTEATUIAVITN

17) __aba__ba_ab

A) abbbb
C) bbaba

B) baabb
D) abbab

18) from the given answer figures, select the one in which the
guestion figure is hidden/embedded.

&1 areft Fea ATt F F 3 eer A F IR
a9 Mg PR 8

<)

2] e

B) QIATAETUTNVI
D) QEAITATITNVU

21) If 2 mirror is placed on the line MN, then which of the
answer figures is the right image of the given figure ?

T T T T MN 3T O 3@ St & i 3eae
Tt 3 & wler-ol ampler weer ampler & wE wiafEeT

o

D) =

19) A word is represented by only one set of numbers as given in |

any one of the alternatives. The sets of numbers given in the |~ @ o ‘
alternatives are represented by two classes of alphabets as in IS ngn NPl (o] b=
two matrices given below. The columns and rows of Matrix 1 -
are numbered from 0 to 4 and that of Matrix II arc numbered N ¥ ¢ Lo =

from 5 to 9. A letter [rom these matrices can be represented A) B) C) D)

first by its row and next by its column, eg. A’ can beg e
represented by 01, 14 etc. and *M" can be represenicd by 22) Find the number that is common for all of the clue's given

56,68 etc. Similarly, you have to identify the set for thegwerd below:

‘EAGLE’. { A forw o wef ST 3 T WA SET FAEY)
wﬁmﬁﬁwdwmmmtmﬁ a) Virgo [ =T

foymreat 3 3 Tt weh 3t R v ) Rl # fow arw b) Volleyball / afely &Te

WWW & 2 avit g qUTL AT E, ﬁ%ﬁ ¢) A highest scoring shot of a particular sport / Ty @er 1
forw arw & HTEgET # ) gy | & e AT A A FeOR 3 UTo G aTe giie]

e 0 A4 F ST IR TR I S F 9, 5 NS H
v e P O 30 H afed R A & T S
maﬁmmﬁma TeERUT & fAT A #0114 HE
ZaT g2l ST ST & AT M Y 56,68 31T ZErr 2
1T & =% e & 3wy wee BT 4eg ‘EAGLE' &

ForT W 1 GEaTetT g
MATRIX - | MATRIX - I
0[1]2[3]4 5676 9
o PAGRZ S5EMLNO
1/G R ZP|A| |6/LIE[OMN
212 PAGR |TONELM
3'alG/RIZ/P [B/NO/ME L
4RZPAG |[9MLNOE
A) #.22,31,89,76 B) 66,43,44,79,88
G) 99,01,44,96,77 D} 55,14,11,78,66

d) Extra sensory perceptions / EfFgdaT A

A} 8B B) 4
e) 2 D) 6

SH20TE /3140320
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A: Gansral Inteligence and Reasoning / KT & FAwT Jiaton Fr shwihT

23) Directions: Siudy the diagram given below and answer  28)

question.
B sz a7 ez FfFa Hiv v &7 Feaw diad 4
The Qualified and experienced doctors working in villages 7
are represented by:- 343
gt # SRR 3T vE Hasd s v
e &7 A) 1332 B) 1321
it c) 1231 i 1331
S /% GUALIFIED DOCTORS
vl | vt et 29)
LES ; | EXPERIENCE DOCTORS -
L [ it e T r 1
|/ pogTons woskmg 0. _"v i 8 5 2\_1__|__\|._ 5 |
(133 196/ (7] |
A) 4 E) 5 G '("I"”“ - I_&TM\T
c) 2 D) 6 i B g 4 .
24) In a certain coding system APPLE stands for ETTPL Whatis ~ A) 535 B) 451
the code for *‘DELHI"? c) 702 D) 154

oY 15 sqa e # APPLE &1 %15 ETTPI §] ‘DELHI" &7

30) Name a singledenier, which can be deleted from the hody of

HIE 4T g the following wonds to form entirely new words?
A) COMND B) ZAHDE oft g @ A e 9 F v Pereiae vt A &
G) HIPLM D) CQPLM P T O T BT ST T R
HOST POST COST LOST STOP
Diractions / & In Question nos. / W97 F&IT 25 to 29, select A) P B) P
the missing number from the given responses. cws D) O
@W??ﬁﬁf##ﬁﬁﬁﬁmﬁ ) = [ —
Directions / A& In Question nos. / F¥ &&AT 31 to 32, one or
fwo statements s given followed by Iwo
ah conclusions/assumptions, | and ll. You have to consider
the statement to be true, even if it seems to be at variance
p WF I\J’/’ from commonly known facls. You are lo decide which of
the given conclusions/assumptions can definitely be
A) 12 B) 7 drawn from the given statement,
¢y -12 D) o o 7 & aeaey foar g & G et gt
26) | 40 32 72 12 frsavaeaar, | Hivi. Rt av fargst faw e
Il 56 7 8 15 L T I LR e—
A) 49 B) 36 flim7 gelie glar ehsmaat Avfg &var & & e o
C) 46 D) 48 FFdeq # & Fla-ar Fffaa w7 & aJF Fenaeaar
27) fAwer ST T 8
)| 7 m
[ (] 2] [& [= -=||3_':'?:'3__}
5 | 2 | q
A) 16 B) 12 '
C) 90 D) 48
SH201E [ 3149323
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Part A: General imlefigence and Reasoning / 557 % Heq Slasm 05 qdeiRks

31) Statement: No'rud is pod. No pud is Mexible:
AFFEd : PIS O ol G B FE T w=hel 78 &
Inferences / HIEAT:
1- No rod is flexible, / FE o F=1a 78T #
11- Some pods are flexible / $&F wAT sl &

BY Only inference I follows.
Fae AT | WFear

A) Both of them follows.
2=t meaar PEadr g

¢l
C) Only inference Il follows. D) Neither of them follows.
Fad AT 1 2=t # & | A
et 2l T8 P #

32) statement / TFTE:

A good book even if costly is sold out in no time.

Uk 3T TEdTe JEdi gl 9X Y ey faes St )

Assumptions /| AFFAT:

I: Some books are berter than others / F TFereh 3=41 &

g B o

11, All good books are costly / THT 3=t GEa+ Agal alet

8

A) Only I follows. B} Both | and 11 follows.

Fae AT | e A=gar | 3T 1 g

g e B

&} Neither [ nor 1T follows. D) Only II follows
7 Aegar | v a g oo A 1
e B el #]

33) If CUSTOM is written as UCTSMO then how PARENT will
be written in the same code?

7fE CUSTOM FT UCTSMO forar 5iic & &t PARENT I
3 Torgr Soem?

A) TNERAP
C) ERAPTN

B) RAPTNE
P APERTH

34y In the question one part of the problem figure is subtracted.
Select the option that shows the correct shape by the
subtraction.

TH W A WO T 1 U H9T 35T R o g o
TraeT AT S W FLA F &g TE F S2AATE

36) If ‘air* is called *green’, green is called *blue’,

35) Two position of dice are shown below. When three is at the
top what number will be at the bottom .

A= o T Y 2 PR gy = fufe s dear ar
#Arer sty T gt

- (R 4 |
i L & ']
:.lli :':f e
A) 5 B) I
2) 4 D) 2

‘blue’ is called
‘eky’, ‘sky’ is called ‘wvellow® , “yellow® i called *water’ and
water is called *Pink” then what is the color of clear sky?

o, g F T FE T, T H A FT S, A
I T gl ST, H1 Ui Hel J1T, ey Fi
"UTHY ST ST HITETT HT T[eTET HET AT Al Jh
TN AT TaT SR T

B) water / aret

D) Blue /#rar

A) Nellow FETHT
O giyl 3T
37} A piece of paper is folded and cut as shown below in the

question figures, From the given answer figures, indicate how
it will appear when opened.

e v it & e HEEH ST AT F
FIEe a2l Tl & F18 9 [0 3oad g S e

UUX::I.;. omu Déﬂ | oug
-:.1‘:l q.'! amn DD:O:.- | G e
] B) C) D)

38) If the words are organised in reverse order of what they
appear in dictionary, which word will come in the third place.

B Al p e eC oL e e R T

_ E = N # coateua frar Sire o dr T o e 1 ae
— EN )
I & A) Beculist B) Odium
Kj *_\ | % G) Odious D) Ordeum
A B) ST
onhit Downloaded From: http://sscporta in
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Part A General intelligoncs and Reasaning/ S & SR g 07 aHaiae

43) Veena and Veeru both start from a point towards Morth.

Directions / f&er: In Question nos. / 5#4 H&T 39 to 40, which Veena turns to left after walking 10 Km. Veeru turns to right

answer figure will complate the patfern in the guestion after walking the same distance. Yeena wails for some time

figure? and then walks another 5 Km. Whereas Veeru walks only 3

T T el & Hiawy QT F7 Km. They both then retumn towards south and walk 15 Km. |

il s ¥ LS forward. How far is Vecna from Veeru?.

39) et AN w2t T T & Ioae R F 99 4% awa
& e 10 PRefr. Tore & T a1d a1 st ) % e

/ Tole o A8 el HE F4T 8] 99 o 90T § o0 Fhar g
i 3 iRT s et 3 wordlt &) et de e 3 TRaln,

wrora #] TRt & 2yt o feem 7 atea & 3R 15 et

J— | - TeAer §) a8 | T gy &
: A) 2K m, / B, B) oK. / foratr.
‘ | €) §xm. | i D) 15Km. / .
LY B) ¢ D — =
44) find the missing number?
40) o TEIT AT AT

= = 2, 5. 10,17, 26,2
A/ ) A) T6 B) 49
=\ C) 37 D) 47
o T

45§ To jﬁmfy the correct response from the given premises
stated according to following symbols .

i@ v & e B v e @ wEr

| .
» / ‘ >/ | Ioal A ffEd
/_ | ‘A’ stands for not less than {‘f}

N Sl 7 DV § W 3 X A AR F (D)
o ‘B stands for not equal to ()
Directions / 3w In Question nos, / ¥¥7 F&IT 4110 42, ‘B @ FE ¥ s A ¥ ()
fﬁﬂﬁg Jﬁiiigﬁﬁn tg:fuifsr Pay “C" stands for not greater than (¥)
T HR@ 7T Ffora 5 Ao e Aorat & ater gaifts ‘O I d T A § ()
Hatr &t e & ‘I stands for greater than(>)

41) Vegetables, Potatoes, Eatables ‘D'F I [ AT ()

ieAar, Hid, ey qmﬁ-l ‘E’ stands for less than (=)
BRI ETAFAE ()
‘ 'F* stands for equal to (=)
Y Q P WY F A § (o)
Premises / T 4YF3x and / 3T 3xF6Z
X) 2YF3Z B) 4YBSZ
42) Christians , Catholics, Pope C) 2YD3Z D) 2YE3Z
éml? Fqfae, o
SRI0TE f 3140309
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Part 4: Ganeral Intefigance and Reasening / 5777 ¥ T gigmem 1o sbifs

46) Ravi is walking in the East direction, Afler covering a
distance of one kilometer, he turns 45° left and then 90%
right. In which direction is he now?

A aaw g & FL frgliaa s Fag
g% 45° aT0 AT & T 5T 000 ardt AT B SH AT
o

A) North / FFEX B) west/ afdes

C} North West / 3eag ufFas D) ‘North East / 3eod 98

47) Which of the following jumbled words is not an animal?
| e seaafiug et A @ st ar veg Sea At

&
A) LATHPEEN B) TICRECK
¢ FEFEOC D) TAR

48) Arrange the following words as per order in the dictionary .

i@ =l =t o Fier & o 710 %9 F 3ga

e

{1 Hale (21 Hake (3)Halt () Hamlgt (5)Ham
A) 1,3,5 2,4 B) 2,1,3,54
C) 2.1.4,3,5 D) 2.3,5.4,1

49) [f 4+ means ‘%’ , "—" means '+, ‘X" means ‘="' and *+" means

*+*, then what will be the value of 16+64—8xd4+2 7
AT v w A W H AR E AT SR
IR 2w AR TF 16+64-8x4+2 I AT T
B

A} 12 B) 24

C} 16 D) 18

50) From the given alternative words, select the word which
cannot be formed using the letters of the given word.

TR R ddar g Sk v wme &

T T THNIT Y TGT AGT T Tewedl B
'‘BOOKBINDING'
A) DONDING B) DOING
C) DIGGING D) DINING

Lt
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Pavt B: Ganeral Awareness / AT & ST FrET

HARAREEEELET S 56) Swaraj is my Birth Right and I shall have it, This was
Part B — " advocated by:
ﬂ[l lgﬂnﬂ warenes
TEUS A Fen e wEwR mﬁs@rmma

HPT W WA SISl

TRaN|TE e AR on

51) A Computer executes Programs in the sequence of :

: A} Mahatma Gandhi B) Lal Lajpat Rai
e TH FA F A & Fvaa w1 E 5
o HETcAT AT T Fodd T
A) Decode, Feich, Execute B) Execute, Fetch, Decode C) Sardar Patel D) Lokmanya Tilak
feis, ther, QealagE trsirrge, %, s TER TeH dFa Hew
c) Feich, Decade, Exeeute D) Stwre, Fetch, Execute = i
vy, B, tvalege 2R, e 57) Which of the following is called the Light house of the
N ' Mediterrancan?
52) What is ‘Reformation’? - CrafafEe 3 & R ey anR 1 AR @5y
U #4477 Fea ¥ |
A) Revival of classical B) The revolt against A) Stromboli of sicily B) Mount pelee of West
learning / FAdTATcAR authority of pope / 99 & fraar @ s Indies
AT & G VE yie & TEem B afvae @9 §HE H
C} Rise of absolute monarchy D) Change in attitude of man AT G
[ TS & 3BT | AT & FTER saed C) Paracutin of J¥exice D) Vesuvius of Ialy
& ofrader Hfamat 5w sedr = faglaay
53) Which of the fallowing particles has the dual nature of 58) Wha of he f”“m’ﬂﬂg has given the term rhizosphere:
particle- wave 7 festhay oeg Feeiad # § FREe e O
fretataa fee soit # Fofrm-atar & sfavsE
) i Al Alexopolus /| YA B) Garret / M
e &7 C) Mone of the givenoptions D) e s fireeett
A) Meutron IFZE'TH B) Electron Iaﬁ'ﬂﬁ'ﬁ' ! §HH HH EFH? ARt
) Meson / #irsia D) Proton /sl 58) Which one among the following industries is the maximum
= ~ consumer of water in India ?
- S RS # FrtarEe R se & o f ave
& &r urdF &
TH 3 IS SR ¥ i A &
siri 5 ndusirial Designed
A) Small Industries B) Small Industrial Designe A) Textile R -
Developmental Banker Bank of India / THTT :
Institute / FATA fae 4 FaEr 364N EE DGR
. : TG - C) Paper and Pulp D) Thermal Power
EEfsARECLr AL u .
ghregae
C) Small Innovations D} Small Industries
Drevelopment Banker” s Development Bank of
Institute { FATH India | TATH SSEEIT
ZeTd e SAEUAT s d% HE
dwy sfeeeye sTosar

§5) The metal ion present in vitamin B121s :

fertae B12 & o7 urg 3 I9Teud Er d)

A} nickel | T B) Lubalt/ FrETee
C) iron /AL D) ine /Tl
BKI016 § 3149320 PT.O

Downloaded From: http://sscportal.in




Downloaded From: http://sscportal.in

Part B: Gomrad Awavenass S 897 &0 SE=T FrAFT

69) Microbial degradation of nitrates into atmospheric nitrogen is 75} Pulses are obtained from the family: *

ERCI 15 . T TeEt ¥ IW o & e g £
TYFETATT A & R AL F gEAedry
A) Liliaceae B) Fungi
faEes @8 FEerarn & Frertredy e
A)  Ammonification B) Denitrification C) Cycadaceae D) Leguminosae
AR LOIiEAETL wEdRdr IR
C) [Putrefacation D) Nitrification
Tt 76) Who was the Indian women president of the United Nations
iG] G Eilﬁﬂ o
(General Assembly 7
70) Which of the following is in the ascending order of Data YA UG HET WHT T GEel Afgenn AT HETRT
hierarchy ? whr o
Aaf@a A sl | 2er gRueEd F AR w9
A) Margret Thaicher B) Golda Mayer
¥ A ey Tresr AW
A) Bit - Byte - Record - Field B) Byle - Bit -File - Record - C) Sarojini Naidu D} Vijaya Lakshmi Pandit
- Database - File Database - Field AET g fasT =T uftea
- ETRAY - BIET . EeTAg - fies 77) The one rupee note bears the signature of ;
C) Bit - Byte - Field - Record D) Field - Byte - Bit - Record Uk TG F e G {FEh FEan| gd 87
“ila - Databigs y = File- Datsbens ;) A) Govemnor, Reserye Bank  B) None of these
fac.age .- Aes- R fies-ase -fae - R of India =t F
- BISH - SICTEE - ST - ST E g & 37w s &
71) T_hr: best milch breed in the world is : & Sinincé Minister D} Secretary, Ministry of
TR i Ha oA GIoaT 78 ¢ ' St sHY Finance
A) Deoni B) Holstein - Friesian e FAw T & AT
Frsttams e T %
C) Sindhi. D) Chittagong — e
faefr faeaitar 78) What is the currency of Saudi Arabia?
w ey tfaar v mer w2 #7
72) In which year was the Indian National Congress formed: )
: , A) gi B}
SR TSET IR &7 715+ =6 T8 5T Riyal / Rame V. F RISE
x) 1 _N C) Lira/enr D) Dinar / EFR
e
€) 1853 D) 1885 79) Reserve Bank of India was nationalised in:
73) Bangladesh was created in- Rerdr 3 a7 oo 3 A g
FTET 3T T TUTTAT 57 a9 §5- A) 1951 B) 1947
A) 1973 B) 1970 ) 188 By
9l B ], 80) Which among the following is a folk dance of India.
74) Raja Ram Mohan Roy was the founder of: Rl #F # Fi7 a7 AT AT 87
FHE FEYTTEH AT T Alget 44 2 A) Kathakali B) Mohiniatiam
A) Brahmo Samaj B) Prathna Samaj FHUH A
FEA HATS AT TS C) Manipuri D) Garba
C) Ram Krishna Mission D) Arya Samaj wforgdr T
TGO T I FrETS
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Part B: Genoral Awsvsness / Mo & TR SRR

81) NABARD stands for : -~ 86) Day and Night are equal at the :
U T T INCE (A=) THH ATEF - 78l 9 Rt aur oa o @A i §
A) National business for B) Mational Bank for : A) Prime Meridian B) Poles
accounting and Reviewing agriculre and rural THE A uF
[ A T B development/ AT dF G} Equator D) Antarctic
c . ; B7) Economic profit or normal profit is the same as :
C} Mational Bank for D) National bureau for air
aeronautics and radar and road transport / 3flis @1 Y AR A 56 F9 H A O
development / YA #o HUAA AT PIT THT ¥
W ARy s wos U5 gRdre A) accounting profit / #@T B) optimu profit/
AT GLE
i AR il
= C) D) maximum profit /
82) ¢ : o Gt net profit / & FTT
) Surplus budget is recommended during : T AT
o eRe nfieT asie & Feghy fr o 8
88) Evergreen type Fopests are found in:
A ot B %
) Depression / #Hal & ) Boom /S ¥ 2 TR en % & T O o E
. A) Mediterranean fegion B} Monsoon climatic area
C) War/ g wre F @te P) Famines / 3 F 2h U Y e SRR S
== ; : i D) Eqguatorial regi
83) Who was the first Speaker of the Lok - Sabha: #l p“‘-’;:‘gm“ } P mg&:
ites T & T U S ST
A) B.R. Ambedkar E.:l G.V. Mavalankar 189). The gene which exhibits multiple effects is known as:
1. 3. 3T i & AEEE it S ag wwmEr S weia $t § 9 S o
C} N Sapjr:ev Reddy D} Dr. 5.P. Mukerjes A) Pleiotropic B) Pscudogene
T, Hatrar =8 =1, v oY, Al [ e i retardel
% Z S : Compl L
84) What is the plural voting system ? ¢ Pfrlygeue L Emp i

TRITHF FalfOear 69 547 § |
A} All the citizens caste three B) Eligible voter exercises 90) The ash-grey soils of high-latitude coniferous forests are

votes each. one vote and some volers known as:
wfr AT 3 YAmgp=Gific qualifications T e G HET & 3T9 W & A5 F o gH s a
cast more than one vote. o
e diet A & B af¥q dex U are g :
¥ Fur 5o ey A) Grey-Brown soils B) Red and Yellow soils
o T i #3eT A T 9 #qET
T e C) Tundra soils D) Podsols
) , "ima'f ale S & T3 HaT LT
C} Only the higher officials D) Candidates themselves
caste more than one votes. caste more than one vole, 91] Radio activif}' was discovered by:
Faw I HOFHT & el AT U H YR TitaT S wie 5o AR 8-
s o HiUw g & B yoF ae e ¥ |
A Curie g0 B) Becqueral / frgie
85) Which of the following plant shows chloroplast dimorphism? G} Soddy / & D) Rutherford ! TETEE
e & Fi7 & gy FeEcaee ZEgAitheA
wefia FLar &7
A) Sugarcane / 7T B) Sugar beet / TeeT
C) Rice/ums D) Wheat /31
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Pan B: Ganeral Awsrensss / NUT B Frene =T

92) Muddy water is treated with alum in purification process, itis 97) Best way to conserve our water resources:
termed as: . e HEueAr F TR0 T gEE = ader E
T Y wiERgT # g 9 F 39w e @

_ A) Al of the options B) Encouragement of natural
Ao @ T WhRAT FT Fgandr g7 mentioned here. regeneration of vegetation
A) absorption B) adsorption ot W WY AT Tcieh deed el &l
Farior rfereeor TSI TSI
C) coagulation D) cmulsification FTT
TR LT FFOITRERTOT C)} Sustainable water D) Rain water harvesting
- utilization 4T & Sl F HAEOT
893) An enzyme produced by HIV that allows the integration of Had Fel STAIET

HIV DNA into the host cell’s DNA is : BT S =
Tg S ar CaRT Irdee UABH & o 9t iR 8B) Constitutional Monarchy means :
& Ao F o twas A F S & waRa s e # o

FAT & A) The King is elected by the B) The King interprets the
: people constitution
A) DNA gyrase B) Ligase =
.00 T e AL SO Rl L W
C) Integrase D} Helicase AT ST T Fa
o FaTCo | C) The King writes.ihe D) The King exercises power
constitution as granted by constitution
94) Voting is : Tl ZAR HTEaE whau= g wre
ATEOHN UFH HH & TH] FLAT afFa & AR e F
A) The unit of area who B) The process by which CERT el & T
constitule a umit for volters exercise their right
electing representative. to vote, "89) What is popular sovereignty?
de it o s & 3w o T T TR THTcAT 4T § 7
e a7 fr z=E & gieX N9 AT & K A) Sovercignty of the legal B} Sovereignty of the head of
FET AT B HUFR & G F head / FAfEr o ar state | 759 & ofrd &
g1 T Wi
C) The process of selecting D) Universal adult franchise. C) Sovereignty of the people/ D) Sovereignty of peoples
representatives w gle, AT & WHed representative / elcl &
AT IRSEE o S ol FRSIEsR | wiafa® & giea
oF Ul E |

100) Granite, quartzite areas have upstanding look because
95) Thetwo specific heats of gases are related by : AT —ﬂﬁ-l-émat 87 TS §9 wehT g ¥ wuife
ot & & Rftre am 3w gEr T

A} not easily wom down B} these rocks are resistant to
A}y Cp/Cv=R B) Cp-Cv=RI TERT B AR A8 # all kinds of erosion
Cr! CF—CV‘R.I"J D} Cp+Cv=R] ﬂ'ﬁﬂ!ﬁﬂ?ﬂmﬂ?
96) Who initiated the movement to form the Indian National e F ufer wierEn
Congress: 2
NI TSET SR & Tae] Tatl Hieg iofe] &l fohdel C) these rocks are not easily D) mechanically weathered
Wﬁﬁiﬁ" eroded faster
A den &) 0l g1 =EET A e i ¥ & oo &
nmie Besant ., Hume
o ¥ wsiea AR ) ] ol
C) W.C. Banerjee D) Gandhi ji
e, HY, FeTai ey S
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Part C: Quantitative Apitude / BT 7 SRzmmcss NEwET

R dded AW TR AR

Part C: Quantitative Aptitude
) A £ (i e R SR

101) Let C1 and C2 be the inscribed and circumscribed circles of

a triangle with sides 3em, 4cm and Sem then

areaof C1 is
area of C2

A o F C1 3R c2vw BUA F daga Ak oftga

§ S spend s, 493 it saA # o

Cl & 83%d &
C2 &7 E9hH
Ay 9 B) o
16 25
C) 4 D) 16
25 25
102) ¢/ afgrx=_ |
V2 + 1
then(x + 1 Jequalsto /@ (x + | ) FrEF T &=
A) 2 B) {2 -1
C) {2 +1 D) {2

104) If the expenditure on education is T1600 mare than that of

housing then the expenditure on food is:

nfr firen or = T @9 T F1600 HOw oA s
e B

A) 6000
C) 27000

B) 712000
D) 3333

105) The ratio of expenditure on food to savings is:

Hyster @9 3T =99 T ¥ B

A) 2:1 B) 3:1
C) 3:2 D) 10:9

106) The average marks obtained by a student in 6 subjects is &8.

On subsequent verification it was found that the marks
obtained by him in a subject was wrongly copied as 86
instead of 68. The correct average of the marks obtained by
him is-

forelr gt &1 6 fawt & v ge Jwa 3 88
¥ g & WeHgH W # GE 94 9o 6 v By
# 30% 3 & e o 68 F FA W 86 Rw
R |, 39 e S w wd e

A) 85 B) &7
C) #4 D) 86

Directions / @2 In Question nos. / ¥&7 T&IT103to 105, The

pie-chart given here shows expenditure incurred by a
family on various items and their savings. Study the char
and answer the guestions based on fhe pie-chart

&5 grE- a7 # v gRaE ganT f@fHe7 ggt av far aar @ =
il 3t @ & geifar o @ ard Er seaaE &)l
qrE- a1 9T HTETR S v &1 3ec

Direciions / /@& In Question nos. / ¥7 &H&IT 107 to 110,

@lven here a multiple bar diagram of the scores of four
players in two innings. Study the diagram and answer the
guestions.

@l gy @t & gt oiftat & v &7 ag a-arw Bar
TRT B IR FT HETTT B¢ HNIE F 3 8]

103) If the monthly income is T36000 then the yearly savings is:
afy AT 3w 736000 ¥ o i awq B

O 1st Innings
100 --mmmnmnn- gEal arlr [reeeeee
Ol e BT Ty e £ S ——
o 5L L TR
e R e = s
g e R M L e
'] 5': e L pltmhen ey bt MY e et e
< 40 1-
g 30 <= Eir---1 B&---1 [~
20 + "
10 +-
0

Mabendra Wit KEohli  Cheteshwar Shikhar
Zingh Dbani BT =gk Pujurs

107) The average run of iwo innings of the player who scored

highest in average is:

2t ofidt & Ieaas ad = WS S arel e &

A) 72000 B) o000 AT =
C) 74000 D) 70000 i
A) 73 B} 85
c) 30 D) 70
SR2015 1 3148329
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Part C: Quaniitative Aplitude / 5T & SO RS

108) The average run in two innings of the player who has scored 115) If the three angles of a triangle are:

minimum at the second innings is: I UF A & &= o
AT Ui # HEW &A TN Wed e are e & 2wt (x + 159, (6x +6°) and (25 + 30%)
afyat ¥ atfea oo §- 3 :
A 50 B} 60 then the triangle is: / @ Taaar 8-
c) 40 D) 30 A) scalene / fyae =g B) isocsceles / HHGIETR
109) Th:niwaagﬁ score in second innings contributed by the four C) right E"E":d""m B equilateral / THETE
players is: e e Sieaite
adr ol # 9 e & g = b 116} If the number of vertices, edges and faces of a rectangular
parallelopiped are denoted by v, € and f respectively, the
A) 30 B) 60 | valueof(v-e+f)is
c) 40 D) 50 Tf e FFEIoE FRGT WT Bas & o], #RT A

110) The total scores in the first innings contributed by the four ' SFEITET T T Y FAM v, ¢ W Fegmr e fra

players is: , S B A (v-e+ ) & A &
agelr Orr # =t et ganr Bee e o g A) 4 B) 2
= - C) | D) 0
229 B) 200 e — —
A) ) 117) 5 persons will Jive in a tent. If each person requires 16m? of

C} 210 D) 190
) ) floor area and 100m® space for air then the height of the cone

of smallest sizebo accomodate these persons would be?

111) If the volume of a sphere is numerically equal to its surface ,
SenfEd uE oo & 0 of woiw safee & 16m? woff

area then its diameter is;

e U TEF F WS FEAHS 9 T TG T g7 ¥ arg & T 100m?® & s=ava Y wFmsar ¥ ar
gre ¥ ST ¥ oAt saer = b 3 ITEE W 3EA TR & & AU 9gow R & ow
A} 4cm B) 2com . S Fe1S TR gE?
C) 3em D) 6cem T A) 1875m B) 16m
- e 1025m D) 20m

112) A train runs at an average speed of 75 km/hr, If the distance

to be covered is 1050 kms, H ill the train tak . ye—r=—s . .
m-.,-:r 1i.t1:;vcrc is 5. How long will train take to 118) If the altitude of an equilateral triangle is |2J3_cm, then its

area would be:
Twemdr 75 A | Faa afc a4 a&d -
£h B, e s e Té B oft vw aFEE BNa ¥ dndese 1203 A ¢ A e
afg 3@ 1050 Fraf, #r aff 7 FE0 & A 37 Tad A ; ;
foreat TFT & AU w07 '
_ : A) 1z2em? B} 72cm?
A) 13 s s EE B) 2 nmssEe C) 463 em? D) 14443 cm?
E] hrs / - D} S e iE
{41rs/ & Pbrd B 119) The difference between successive discounts of 40%
. ; : - followed by 30%% and 45% followed by 20% on the marked
13) G is the centroid of AABC. The medians AD and BE price of an article s ¥12. The marked price of the article is:
intersect at right angles. If the lengths of AD and BE are 9 Rt A 3 S
cm and 12 cm respectively; then the length of AB (in cm) is? qHT F AT Hea 9T 40% #1Z 30% MY
G AABC #1 F=¢F ¥ amns AD i BE SF10T &7 45%, 38® @ig 20% HT Ieollcol Be # e T12 8) 39
ufeeda @ 8] 9 AD 3T BE &1 o wmwr g da arq 1 HfEa Aew i
R 12 A & & AB & med (A &) Beh & A) T400 B) 200
00 E{
A) 10 B) 105 i == == S
C) 9.5 D) 11

114) The minimum value of 25in%@ + 3Cos26 is
2526 + 3Cos20 T FYATH A §-

A) 1 B) 3
c) 2 D) 4
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Part 0 Quantitadive Aptlude / 59T T gRierorae e

120) The area of the triangle formed by the graphs of the 126) A's 2 days work is equal to B's 3 days work, IT A can

equations x =0, 2x + Iy =Gandx +y =3 is:
x=0,2x + 3y = 6 HY x +y =3 FHIOT ATHT F &
ST & ST -

A) 3sq_unil.-’ﬂ'iﬁ"€|ﬁt' B} 1.1 sq.unit/= gfAE

[ %]

C) 1 sq, unit/ == 3 D) 4 1 sq unit/= gfFE

2l
2

121) Among the equations / T
X422y +9=0;5x-4=0;2y-13=0;2x -3y =0,
the equation of the straight line passing through origin is-

#§ & =E fig & qoret areh = Yar w1 wHer §-

A} 2x-3y=0 B) 5x-4=0
C) x+2y+9=0 D) 2y-13=0

122) The HCF of x® - 1 and x* + 2x® - 2x - | is:
X8 | 3T x4+ 23 2 - | T AgeaA FATAAH o-

A) ¥ +1 B) x+1
C) x2-1 D) x-1

123) The least number which when divided by 6, 9, 12, 15, 18
leaves the same remainder 2 in each case is:

aF WaAH g EEe 6,9, 12, 15, 189 fawfaa &+ W
TeE HAe A e 2 W g

A) 178 B) 182

C) 176 D) 180

124) Internal bisectors of £Q and ZR of APQR intersect at 0. If
LROQ =96 then the value of £RP() is:

APOR¥ £Q 3 <R & ¥ giass O oF
ufaete 1 § 3 £ROQ= 960 & & LRPQ &
o -

A} 170
C) 34"

B} &°
D) 24°

125) A certain sum will amount to ¥12,100 in 2 years at 10% per
annum of compound interest, interest being compounded
annually, The sum is-

o T e sae aftes 9 @ s onar & 10% Wi
a9 TFadl =\ 9T 2 g9t & ¥12,100 g e g7 af

complete the work in 8 days then to complete the work B will
take:

AF 2 st w e B ¥ 3 e & 1 F avat g
afr AZw F1 @7 8 faAt & Fgar | A § AT B
30 1 F1 oae At 7 9@ S ?

A) 14 days/ et B) 15 days/ 2=
C) 16 daysifem D) 12 days/ &=

127) If the measure of three angles of a triangle are in

the ratio 2 : 3 : 5, then the triangle 1s:
ufy frfer Mas & &9 o & oang 2:3:8 Hg T H R

GUGCRRE: C8 S

A) cquilateral / wHaTs B) isocsceles/ wHgRaTs
C) Obtuse angled / 3rfermprofa D) right angled / EF=rofr

128) What must be added to cach term of the ratio 2 : 5 so that it

may equal to 5 ; 67
25 ¥ & Wede gg A @ ST Sen @ige e aw
5: 6% afEt QPST?

A} 12 B) 78
C) M5 D) 13

129) [F'the sum and difference of two angles _grc_zz."’g radian and

367 respectively, then the value of smaller angle in degree
taking the value of [T as 22}"? is:

af & it @ A R E w220 ¥R Ak 360
% 3ty o 11 & e 22[7 A o A IR oy A
feafr & & B-

A) 60°
c) 520

B) 450
D) 56°

130) 4 men and 6 women complete a work in 8 days, 2 men and 9

women also complete in 8 days. The number of days 18
waomen complete the work is:

afy 4 gov ik 6 FoveT Bl w9 F 8 RAT A @ w1
¥ 2 qow T 9 ot o 3% 8 A A oo §) A 18
Teaat 39 & & fhae Rt & qo w407

A) 4 2 days B} 5 2 days
& 3 3
A) 12000 B) 6000 C) 41 days D) 51 days
C) 78000 D) 0000 3 i
T SK2015/ 3145329 F10
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Part C: Quantitalive Aplilude / 897 7 GREOTrs JEEE

——

13) ir/afgx = x#+1=7

x‘lﬂ
then the value of / ST AT FTAA -
x2 4]
8
A) 432 B) 433
C) 343 D) 322

132) yr) afy 5x + 9y = 5 and 1255 + 729y* = 120
then the value of the product of x and y is /@t x T vF

AT FT A E- j

A) 135 Bl-A.
135
C) 1 D) 45
9

1{!‘3} If ¢ men or 8 women can do a piece of work in 15 days, in
how many days can 6§ men and 12 women do the same piece
of work?

g 4 gF 3yar 8 Tl el = = 15 RA & =
wadr £ A 6 9o T 12 Bt w6 & # e e A
FL Wl £7

A} 45 days T
C) 15 days/fésT

B) 20 duys/em
D) 30 days/faer

134) The value of 3in?22% + 3in?68% + Cen?307 is
Sin222% 4 Sin?68° + Cot?30° F71 =7 £
A) 3 B) 4

C) D) 3

£ m g

135) Find & simp1le discount equivalent to a discount series of
10%, 20% and 25%

10%, 20% 3T 25% @ SWem & Jod AN % 79
Fi-

A) 45%
C) 52%

B) 55%
D) 46%

136) If © be acute angle and tan{ 48 - 50%) = cot(50°%- @), then
the value of © in degrees is :

it @ 7gs For & T tan( 40 - 50%) = cot(50% @), Far
i # @ ST A &

A) 30
C) 20

B) 40
D) 50

137) Cost price of 100 books is equal to the selling price of 60
books. The gain or loss percentage will be:

100 TETHT T FTT AFT 60 Toaw & g qpg F
FrET &) A vEr @A Fr it o gefre

A) 86 2 % B} 66 1 %
3 4
C) 66% D) 66 3 %
4
138) r / afy ssine 3, the numerical value of /
FHYFIOT FT HEITOHT AT B
Sect - Tan®
Sec® + Tand
A) 1 B) 1
.3 2
cy l D) 1
4 5

139) If 31"4 of a numbes 187 more than‘i'rﬁ of the number, then 5;’[3
of the number is;
afy ety s %1 34 3w e & e 7 wfm ¥ A
u s # O3 b

A) 15
)12

B) 18
D) 20

B | 140) What is the arithmetic mean of first 20 odd natural numbers?

waE 20 faws wplos dEmat &1 gHiay Anew s
A) 17 B) 1?9
Cf 22 D) 20
141) A kite is flying at the height of 75m from the ground, The

string makes an angle @ { where Cot® = aﬁﬁ 1 with the

level ground. Assuming that there is no slack in the string,
the length of the string is equal to:

uE gEer HqE W 754 @ Sud 9w 33 1@ B awdy 50
5 F TR & @7 For @ W Hgwd Coo - Y5 )
o & oo F B & ag & 5 B ond e
-

A} T5m
C) 40m

B) #m
D) 65m

142) If a person travels from a point L towards east for 12 km and
then travels Skm towards north and reaches a point M, then
shortest distance from L to M is:

aft s Big L & of 9 3% 128, 3K R
Iea Fr 307 SR T s & ot Rig Moot ggear @
ar L aM & egaoa gfr 8-

A) 14
C) 17

B) 12
D) 13

SRZ07S f 3149329
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Part € Cuantitative Apdilade / J7 a1 GREmoieAs it

143) In an examination, a student must gel 36% marks to pass. A 150) If A and B are in the ratio 4 : 5 and the difference of their

student who gets 190 marks failed by 35 marks. The total
marks in that examination is: -

St wRET 3 IR @ & THU UE R @ 36% 36
Faey wIeT &Y D1TRv| 190 3F 9IS w A UF
facaredf 35 3T @ & @ | 3H qhen & ol E

A) 500 B) 625
C) 810 D) 450

144) A train 180 mts long is rumning at a speed of 90 km/h. How
long will it take to pass a post? .
o 1804w IFeEr 90 #rA. iy ger & afy F 99

W 8| v O @ et 7 ap e ae ain

A) 5.2 secs/ M. B) 7.8 secs/®.

C) gsecs/A D) 7.2 secs /B,
145) An article which is marked at ¥975 is sold for ¥897. The %
discount is?
£975 3T Hed T U FEG T 897 A d=r e B
oz % 17
A) 6% B) W%
c) 12% D) 8%

146} [f Sec® + Tan® =p, (p # 0) then Sec® is equal to

R Sec® + Tan@ =p, (p# 0 ) ¥ 7T Seco e goa &/

A) (F‘"”P)- px0 B) L(p+1l'-p). pED

2
B} (p-1p). p=o

147) 1 afc p =99 then the value of / Al FFfRTEA =7 77 §-

€ 2(p-"p) p#0

plpPtIp+3)
A) 999999 B) 988299
C) 989898 D) 998889

148) [¢) 2fE x = 2 then the value of / A1 FE=ITRTRA ® # §-
23+ 2774 243 + 631

A) 1233
) 1321

B) 1231
D) 1211

149) If D, E and F are the mid points of BC, CA and AB
respectively of the AABC then the ratio of area of the
parallelogram DEFB and area of the trapezium CAFD is:

afr AABC & BC,CA 3 AB % %A 7ew 1&g D, E
T F¥ d FAER 998 DEFB & 89w i goee

squares is 81, what is the value of A?
afr A i B 7 3T 4+ 5 ¥ 3 I T A AR
Y A &1 AT e §7

A) 36
C) 45

B) 15
D) 12

CAFD % &/ Fwel S e 47 -
A) 1:3 B) J:2
C) 31:4 D) 2:3
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Part D: English Comprehension
T = A 9Ree

Directions. In Question nos. 151 to 155, sentences given with
blanks to be filled in with an appropriate word(s). Four
alfermatives are suggesited for each question. Choose the
correct alternative out of the four and indicate it by
bfackening the appropriate circle in the Answer Shest.

151) When the morning the murder was

discoverad,
A) came B) happened
C) arrived D) occurred

152) The smell of the Sea called __ memories of her

childhood.
A) on B) back
C) up D) for
153) He has the full facts but is deliberately
hiding them,
A) under his sleeves B} upon his sleeves,

C) up his sleeve D} in his sleeves

154) The appearance of the city _day by day,
A) could change B) changed
C) had changed D) ischanging

155) The police fired on the mob when they

H) wrmed violent
D) fizzled out

A) tumed noisy
C)} became abusive

Direcflons: In Question nos. 156f0 188, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the Answer
Sheat.

‘|Birections In Question nos. 159 to 163, you have a passage

with § questions following. Read the passages carefully
and choose the best answer to each question out of the
four alternatives and mark it by blackening the appropiiate
circle in the Answer Sheef.

P GE
True, it is the function of the army to maintain law and order in
abnormal times, But in normal times there is another force that
compels citizens to obey laws apd to act with due regard to the
rights of others. The force also protects the lives and properties
of law abiding men. Laws are made to secure the personal safety
of its subjects and to prevent murder and crimes of violence,
They are made to secure the property of the citizens against theft
and damage and to profect the rights of communities and castes
to carry out their customs and ceremonies, so long as they do
not conflict with the rights of others. Now the good citizen, of
his own free will obeys these laws and he takes care that
everything he does is done with due regard to the rights and well
|being of others.
But the bad citizen is only restrained from breaking these laws
by fear of the conseguence of his actions. And the necessary
steps to compel the bad €itizen (0 acl as a pood citizen are taken
by this force. The supfémie control of law and order in a State is
in the hands of a“Mimster, who is responsible to the State
Assembly and acts threugh the Inspector General of Police.

159) The expression ‘customs and ceremonies” means:

A} habits and traditions
C) superstitions and
formalities

B) fairs and festivals
D) usual practices and
religious rites

~ 480) ‘They are made to secure the property of citizens

against theft and damage” means that the law:

B) Initiates process against
offenders of law.

A) Safeguards people’s
possessions against
being stolen or lost.

C) Helps in recovering the D) Assists the citizens

stolen property of the whose property has
citizens. been stolen or
destroyed.

161) Which one of the following statement is implied in the

156) BOARD passage?
A) Frame B) Lodging A} The police hardly B) Criminals, who flout
C) Food D) Furniture succeed in converting the law, are seldom
bad citizens into good brought to book.
157) PERUSE i
A) Hollow B) Argue C) Peaceful !;itizens D) Thh.e police check the
GF Reduce D) Read seldom violate the law. citizens, whether they
are good or bad, from
158) SPUME violating the law.
A} foam B) Lava
C) poison D) spit
SK2015 / 3148329
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162) According to the writer, which one of the following is not

the responsibility of the police? 171)-We met yesterday, haven't we 7

A) To check violent B To maintain peace A 'is_'“}t ? g B) LJZ[TPr“‘fmem
activities of citizens. during extraordinary % T i Byl et
gircumstances : s
_ : ; 3oth ; played the game fairly.
A¥ To protect the D) To ensure peace among 172y Both the teams played the game.Jai
privileges of all citizens by safeguarding | - A) played fairly the game.  JB) Mo Improvement
citizens. individual rights. C) fairly played the game. Oy played a fair game
163) Which of the following statements is not implied in the 173) You must endure what you cannof cure.
ssage -
uRssage? _ A) suffer B) No Improvement
A) Law protects those who B) A criminal is deterred C) prevail D) accept
respect it. from committing crimes — -

only for fear of the law.

C) The forces of law help D) Law ensures people’s Directions. In Question nos. 174to 176, choose the word

to transform religious and social apposite in meaning to the given word and mark it in the
irresponsible citizens rights absolutely and Answer Sheet.
into responsible ones. unconditionally. 174) VACILLATION
A) inoculation B) relief
Directions. In Question nos. 164 to 173, a sentence / a part of C) steadfastriess D) remorse

the sentence is underlined. Below are given alfematives fo = “Nad
the underined part which may improve the sentence.| 175) Placid
Choose the corect altemative. In case no improvement s

needed choose “No Improvement’. Mark your answer in| A dull \B] stormy
the answer shest, C) wurgent D) moving
164) He does not laugh , nor he smiles. 1fﬁ} Eﬁén;inacy
A) nor he does smile B) ¥o Improvement ¢ Ay manliness B) boorishness
C) neither he does smile D} nor does he, smile: C) aggressiveness D) attractiveness

165) 11 will get an opportunity, I shall attend the semina,
Directions: In Question nos. 177 to 181, some pars of the
santences have errors and some are correct. Find out
which part of & sentence has an error and blacken the
circle corresponding to the appropriate correct option, If a
senfence s free from eror, blacken the circle

Aj get B) No Improvement
C) shall get D) got

166) The others shook their heads and made vague noises of

approval, corresponding to “No Error” option in the Answer Sheet.
'g; T;‘Edmm N :: E:;f:'"m'mm 177) A bird in the tree is worth two in the bush.
. A) No error B) two in the bush.
167) The world is being faced with a crisis C) is worth D) A bird in the tree
A) No Improvement B) facing ; : : ;
C) confronted D) in front of 178) It is not advisable to take heavy luggages while on a
journay.
168) Shc insisted on she was innocent. A) while on a journey. B) to take heavy luggages
A) Mo Improvement B) insisted on that Sl Dy Nosmcr
C) insisted that D} insisted witn 179) Just outside my house are a playground for school boys

169) She could not help but laugh, and girls.

A) but laughing By No Improvement
C) laughter D) laughing

A) for school boys and B) are a playground
girls.
C) Noerror D) Just outside my house

170) 1 ok my mother some grapes when she was in hospital.

AJ 1took some grapes for my B) No lmprovement
maother
C) 1 took for my mother some D) [ brought my mother some

IAPES Erapes. ™
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180) He can be a basketball player since he is tall like a 190) =

mule.
A) No error ~ B) He can be
C) he is tall like a mule D) a basketball player
' since
181) Who do you think | met?
A} Who B} I met?
C) Mo error D) do you think

Directions.: In Question nos. 1B2to 188, out of the four
alternatives, choose the one which can be substituted for
the given words/sentences and indicate it by blackening|
the appropriate circle in the Answer Sheet.

182) Of one’s own free will.

B) mandatory
D) compulsory

A) wobligatory
C) voluntary

183) Qne who runs away from justice or the law.

& Fugitive B) Thief
C) Criminal D) Smuggler
184) One who is skillful. —=
A) disciplined B) difTereni
c) diligent O} dexterous

185) One who is too careless to plap for the future.

B) improvident
D) imprudent

A) impotent
C) impractical

186) A person who deserves all praise.

A) despicable B} detestable
C} laudable D) lovable

187) One who has long experience.

A) expert B) novice

C) practitioner B) veteran
188) A study of ancient things.

A) Physiology B) Archaeology

C) Ethnology D} Zoology

Directions. In Question nos. 189 to 190, four words are given
in each question, cut of which only one word is correctly
spelf. Find the correctly spelt word and mark your answer
in the Answer Shest,

189)

A) DIFFUSSION
C) DIFFUSION

B) DEFFUSION
D) DEFUSION

SH201% F 3145328

B) Circumlocution
D) Circumlocutien

A) Circumlocatien
C) Ciremlocution

Directions. In Question nos. 191 fo 195, four alfernalives are
given for the Idiom/Phrase underdined in the sentence.
Choose the alfernative which best expresses the meaning
of the Idiom/Phrase and mark it in the Answer Sheef.

191) Unless you make amends for the loss, nobody is prepared to

CXCUSC Yo,
A) improve B) pay debi
C) confess D} compensate

192) Instead of keeping his promise of helping me with office
work, he just left me high and dry.

A) left me feeling like a fool, B) lefi me in a state of anger.
C) left me withoutadropof 0O} lefi me alone to do the

waler. work.
193) Amit said 10 Rekha, “Don't make a mountain out of a
moiehill,”
A) attemptandmpossible task B) start looking for melehills
m mountains.
C) ereate problems D} exaggerate a minor

problem

184) Before the report reached the authority, the media spilled the

A) dropped the charges B} hinted at the
CONSEquUEnces.
C) revealed the secret D) spilled the content of the
information package,

195) His friend tumed out to be snake in the grass,

A) cowardly and brutal
C) ahidden enemy

B) ‘low and mean
D) an unreliable and deceitful
persan,
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Directions: In Question nos, 196fo 200, you have a passage
with 5 questions following. Read the passages carefully
and choose the best answer fo each question out of the
four alternatives and mark it by blackening the appropriate
circle in the Answer Shest.
PASSAGE

Journalists argue over functions of a newspaper. | fecl that a
provineial paper’s purpose is not only to present and project the
news objectively and imaginatively, but to help its_readers to
express  themselves more  effectively, canalizing their
aspirations, making more articulate their demands. A newspaper
should reflect the community it serves = warts and all. When the
mirror is held to socicty it reveals neglect, injustice, ignorance
ar complacency. 1t should help to eradicate them. It would be
pretentious to think that a newspaper can change the course of
world affairs- but at the local limit it can exert influence, it can

ot be stified. Instead, the readers should be encouraged to
express their opinions , fears, hopes, and or their grievances on

Farl D Engtish Comprelension £ 8197 &yt ot

probe, it can help get things done. The individual's voice must.

this platform.

196) How can the readers air their grievances?

A) By being complacent.  B) By supporting the local

newspaper.
C) By writing to P} By writing to their local
journalists. newspaper.

197) What is the main purpose of a newspaper?

A) Project news B) To present facts in a
ohjectively and blunt way.
imaginatively.

C) Exert influence onthe O} Encourage the readers,
individuals. to be pretentious.

198) The expression “warts and all" in the passage means:

A) hopes and fears B) -the reader’s grievances
C) with no attempt to D) the community’s
conceal blemishes and problams
inadequacies

199) How can a newspaper influence local affairs?

A} By probing into the ills B) By encouraging the

of society and rallying readers to accept their
support for change. grievances.
C) By focusing on world D) By influencing public
affairs. opinion through half
truths.

200) If this passage the writer highlights the fact that:
A) A newspaper should B) A newspaper should

reflect the community it only concentrate on
SETVES. local affairs.

C) Journalists differ in D) Mewspaper can
their opinion on the eradicate injustice.
function of a
newspaper.

Do
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